Solve £ > —2. Graph and check the solutions.

' > 3(—2) Mulliply each side by 3. Do nol reverse
¢ the ineguality symbol.

zZ> -6 Sirnplify each side.
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Check: = -2 Check the compuiation.

Substitute 8 for 2.
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Sirnplity.

% > —2 Check the direction of the inequality.
< e
3 > =2

=ubstitule 3 Tor 2.
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Bimplify,

“ %X. Graph and check the solutions.

Multiply each side by the reciprocal of —Z,
which is —3, and reverse the inequality
syrmbol. Y SU

~5=Xx,0rx= -5 Simplify.

e —————
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Check: 3 = u%x Check the computation,

3= —%(wﬁ) Substitute -5 for x.
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Check the divection of the inequaliby.

Substitute —10 for x.




F-L'P ...&,4 > 24 Divide each side by —4, %@%mﬁ@%%@mg-ﬁzﬁ%my symbol.
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) Solve —4c < 24. Graph the solutions.

—6 Simplify.
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) Your family budgets $160 to spend on fuel for a
rip. How many times can they fill the car’s gas tank if it
cost $25 each time? |

tbudget

times

Relate: is at most

T

Define: Let [#]| = the number of tanks of gas.
Write: 25 - =] 160

25t < 160

% = 12950 Divide each side by 25.

t =64 Simpify

Your family can fill the car’s tank at most 6 times.
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